HARU CALI KING BED
1.2225 x W1940 x H923 mm

ASSEMBLY INSTRUCTIONS
HARDWARE FOR WOODEN

No. Hardware Q.ty /i\ Iﬁ\

@ Bolt M8x60 (((«(((((((((((««((.@ 8

@ Bolt M8x45 9

@ Bolt M8x30 @(“((((((((@ 4

@ Bolt M8x20 (((((((((((,@ 24

@ Bolt M6x20 16

@ Hexagonal nut M8 4

@ Nut M8x15 @ 8 Axd

Wash, @ 4 f

@ Screw round head M4x25 Ty 4 %@
=D

@ — | Dx2 Ex2 F x 4 Gx1

@ Pat 2 < 4 &

@ Key K4 N} 1

@ Wrench % 1

: Page 01/07




HARU CALI KING BED

L2225 x W1940 x H923 mm

ASSEMBLY INSTRUCTIONS




HARU CALI KING BED
L2225 x W1940 x H923 mm

ASSEMBLY INSTRUCTIONS

STEP 4

Turn over -> step 6

STEP 5 Page 03/07




HARU CALI KING BED
1.2225 x W1940 x H923 mm

ASSEMBLY INSTRUCTIONS

STEP 6

Page 04/07




HARU CALI KING BED

L2225 x W1940 x H923 mm

ASSEMBLY INSTRUCTIONS




HARU CALI KING BED

L2225 x W1940 x H923 mm

ASSEMBLY INSTRUCTIONS




HARU CALI KING BED

L2225 x W1940 x H923 mm

ASSEMBLY INSTRUCTIONS




	Sheets and Views
	DRAWING

	Sheets and Views
	DRAWING

	Sheets and Views
	DRAWING

	Sheets and Views
	DRAWING

	Sheets and Views
	DRAWING

	Sheets and Views
	DRAWING

	Sheets and Views
	DRAWING




